Pneumatic grippers FC

Series 6300 FACTOCOMPONENTS

PNELNMARX INDUSTRIAL SUPPLIES AND MANUFACTURING EQUIPMENT

} Pneumatic grippers, angular - Standard version

Coding: 6301.0.Q Overall dimensions
BORE Bore 210 016 220 225
10=010 A M3x0,5 M4x0,7 M5x0,8 M6
@ |16=016 | Useful depth 6 65 8 10
20 =020 AB 116 146 20,2 239
25 =025 AC 1,4 16 18,6 22
VERSION © M2,5x0,45 M3x0,5 M4x0,7 M5x0,8
@ | D =Double acting \ M3x0,5 M4x0,7 M5x0,8 M6
S = Single acting (N.0) P [ Useful depth 5 8 10 12
DA 16 24 30 36
DB 12,8 16,2 217 258
DC 10 16 20 25
DE 28 3,9 45 46
DF 26 34 43 51
. M3x0,5 M4x0,7 M5x0,8 M6
| Useful depth 6 8 10 12
EA 12 15 18 22
EB 18 22 32 40
F M3x0,5 M5x0,8 M5x0,8 M5x0,8
FA 11 13 15 20
FB 7.2 7 75 77
FC 18,8 18,3 22,2 23,5
G 17,2 226 28 37,5
GA 12 16 20 27
GB 57 7 9 12
€© 3 4 5.2 8
GD 2 35 4 5
GH 524 62,5 787 92
GLoM1 64 8 10 12
LA 38,6 446 55,2 60,4
LB 23 30,6 42 52
Lc 16,4 236 276 33,6
M 11 17 21 26
PA 54 58 9 1,5
Weight (g) 40 90 180 315
5
k
-}
[y A (2 threads)
O Sensor slot
< detail type “B”
O | =
I: L 52 - W
< . \ o-0— — [ ——— — -2
% sl 7 7
Z
0 2% O
% 6,6 B

D (2 threads)
DF (2 through holes)

EB
LB
30° Opening
|
c
‘ 1
|
|
\
\
DA

a
oM H9
(useful depth 1,5) A yan
.l A\
pan
E (2 threads) EA DB
LC LA
GH

F (connection for closing)
C (4 threads) FB

F (connection for opening)
LL.

\. 02-384-5701 % info@factocomponents.co.th & www.factocomponents.co.th (7 Line: @134ovdbx




ic grippers
Series 6300

Pneumat

NOILVYNLOV OILVINNIN

80

60

40

Gripping force 5 bar (Nm)

|
Il v | © — |
o 1K
Y — | =
-
<
2
9]
SN Z
Sl c
Q S oy
c
o
Q - - i s el e e e i it e Bt i TR T
£ , N B
o F— - 8
- o _- ! == [
o3 L . L L Ll 1_1_1_L J
c @ - ! = ot = [
= 0 £ | £ ==t £ ol
] E ! E Lo E FITTTT b
7} T T [ T [
@ Ec ® = ® ==t ® FAd A=+l ==+ — A A S
=l < | m m s | < | | | 2 o
o IS , IS Lo , IS L1l L
Yo k7] ! k7] =t -+ k] O | T
o «Q a [ =] [ | a L LA I
ol , Lo | [l =T 7
® © W ,T\,T N 151 L, L ! !
9] = b = gt — k54— — |
o< I [ [ [N 2 w B
|| °5 o , o Lo ! o I o [ A R
o = c o e 6 5 6 6 @ o o » N T e I Y O
.mg..n:u. = ] ~ © ® ® ~ ® b ¥ O® Q& - - Q =4 < 8 5] 3 2 <
..m ‘T m (N) @o.04 Buiddun Q (N) @204 Buiddun Q (N) 2104 Buiddug Q - - T (N) 80104 Buiddiy
»
- (]
[Tl -
< (=]
c [
© = £
=)
o 2 ]
[ =]
= g
)
S5
o c
L c s
sl e -9 C T T T T T M
O | | | | [ O A R R B I
o ® L Dk e ek e ER R A -
T c ! ! ! ! [ A N A A
= ® O e N -] [ O B N N R R R
Ele == = T T 1 T ® = T T T T T b
4z £ © € E € !
<2 I I I I I
° M (O £ £ £ !
m eI} = ! ! ! ! J — — FATTATT T b
Bl= T o !
3|5 = g e e iy Sl A /ay/an it 1 9 P = -
2 o o ] c , , ! c = |
ElE c 3l s , , , s ks L L L
3|2 = ® [ [ [ ® b T I
a]®] c .9 e A 1o__Je®f e Lo A R
...m © I s 05 s 5! o5 ! ,74 L i W p 4, "
bm | o e e om o~ gl — gl =+ gl gl st~ A
[0) o , , , , , [T I T T R T R T B R A
%w < o 5 p = - o I Y B Y O I Y B
o8 g ° R 8 ¢ 8 ® o 3 g 2 8 8 8 ¢ =%
oS © (N) @004 Buidduy Q (N) @210} Buiddun Q (N) @210} Buiddun Q - - T (N) 80104 Buiddig
[sa gyt K
@ r
Q
2 ]
o © o
Z £ [a]

20

60 80
Distance H (mm)

40

20

Distance H (mm)

@25

925

4 info@factocomponents.co.th & www.factocomponents.co.th () Line: @134ovdbx

L, 02-384-5701





